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ASSUMPTIONS 

1.100m
2 

GARDEN, 100 YEAR RETURN, 30% INCREASE FOR GLOBAL WARNING. 

2.15% VOIDS IN GRAVELS. 

3. KEMPTON PARK GRAVELS OR SIMILAR f= 4.0 x 10
5
 m/sec 

3.3.5m DEEP BASEMENT 

 

SOAKAWAY DESIGN 

In accordance with CIRIA C697 SUDS 

Tedds calculation version 2.0.01 

Design rainfall intensity 

Location of catchment area London Imp area drained to soakaway A = 100.0 m
2
 

Return period Period = 100 yr Ratio r r = 0.440 

5-yr rtn period rainfall 60 min M5_60min = 20.0 mm Increase for global warming pclimate = 30 % 

Soakaway / infiltration trench details 

Soakaway type Rectangular Width of pit w = 4600 mm 

Length of pit l =1000 mm Percentage free volume Vfree = 15 % 

Soil infiltration rate f = 40.0××××10
-6

 m/s 

Base area Ab = 4600000 mm
2 

Perimeter P = 11200 mm 

Coefficient b b = 2.34 hr
-1 

Table equations 

Rainfall intensity i = M100 / D 

Coefficient a a = Ab / P - (A × i / (P × f)) Minimum depth required H = a × (e
(-bD)

 - 1)  

 

Duration, 
D (min) 

Growth 
factor Z1 

M5 
rainfalls 

(mm) 

Growth 
factor Z2 

100 year 
rainfall, 
M100 
(mm) 

Intensity, 
i (mm/hr) 

a (mm) Min 
depth req 

(mm) 

5 0.39 10.1 1.91 19.2 230.53 -13883 2457 

10 0.54 14.0 1.97 27.5 165.20 -9832 3172 

15 0.65 16.8 2.00 33.7 134.81 -7948 3517 

30 0.82 21.2 2.03 43.0 86.00 -4921 3392 

60 1.00 26.0 2.00 52.1 52.05 -2817 2545 

120 1.19 31.0 1.96 60.9 30.43 -1476 1463 

240 1.39 36.2 1.92 69.6 17.39 -668 668 

360 1.53 39.8 1.89 75.3 12.54 -367 367 

600 1.70 44.2 1.86 82.1 8.21 -98 98 

1440 2.07 53.9 1.78 96.1 4.01 162 0 

Minimum depth of soakaway Hmax = 3517 mm Time to empty half soakaway ts50 = 15min 14s 

PASS - Soakaway discharge time less than or equal to 24 hours 

 

100 m
2
, YOU NEED 4.6 X 1.0m in plan area, i.e 4.6 / 104.6 x 100 = 4.4% of garden area  
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